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CMOS noteos =

Vol
Vdd=5v [Vt—-1v

enRemm  1: Vgs=5-0=5, 5>1 ; Vgd=5-VolL ; =» t1:Linear
2: Vgs=5-5=0, 0>-1 ; = 12: Cut off
KEEtr=it2 =0

0.5K°(W1/L1) [2(Vgs-Vt)Vds—Vdsr2 | =0
[2(5-0-1)Vds —Vds*2]=0

8Vds —Vds*2=0

Vds (8—Vds)=0 =» Vds=-8,0

CMOS not —— o

VoH :

Vdd=3v |Vt=1v
Ry 1 Ves=0-0=0,0<1 ; = t1:Cut off

2: Vgs=0-5=-5, -5<-1 ; Vgd=0-VoH ; =» t2: Linear
KCL:It1=1t2=0

0.5K* (W2/L2) [2(Ves-Vt)Vds— VdsA2 ] =0

[2(0-5 - -1)(VoH - 5) — {VoH -5)A2 ] =0

-8(VoH - 5) = (VOH - 5)A2 =0 =» 8(VoH - 5) + (VoH - 5)2 =
(VoH - 5) (8+(VoH - 5)) =0

(VoH-5)(3 +VoH)=0

VoH=-3,5




CMOS notcotf J-

Vm :

Vdd=3v [Vi=1v
k'n=250 k'p=100
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